Ymnooicenue na o

Ypox no mamemamuxe
3 Knacce

Hpesenmay,uro eblnosiHula
yuumesib HAUAJIbHbIX KJlaccoe

MBCKOY CKOIIINe36»
Ky3Hneuoea A.A.




Tema_ ypoka

«YMHO>XEHUWE HA
0»




BbinonHuv 3agaHve.

>

(9+8)+0 = e
[4+9) _ pu 5mau

16-0)= pewiu
00 ¢ () = 5 npumepos
8'(16—15)= c uucsiom 0.




[lpoBepb cebA.

(9+8)e0=0 15+ 1 =15
1(4+9) =17 35+0=0
0+(16-6)=0 14 +16=30
99+ 0=0 18-18=0
8¢(16-15)=¢ 0 *34 =0

(&




CocTaBb 1 peLwuu
3agauvy.

63=18 (uz.)
Omeem: 18 uzpyuwiex.



CocTaBb u peLwun
3agavy.

6+3 =18 (pyb.)

Omeem: 18 pybneu.




CocTaBb 1 peLwuu




[MpoBepb cedA.

1) 6.3 =18 (K.) — wokxonadHsLx.
2)6 + 18 = 24(K.) — ecezo.

Omeem: 24 KoHgemebiL.




[[eomeTpUuUyeckana 3apgava.




Cnacunbo 3a




